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FIRST MID TERM TEST - 2024

Standard X Reg.No.
‘MATHEMATICS |
Time : 1.30 hrs Part - | . Marks : 50
l. Choose the correct answer: K : 7x1=7
1. A={ab,p}, B={2,3}, C = {p,q.r.s}, then n[(AUC) x B) is
a) 8 by 20 c) 12 ~d) 16
2. Iff: A->Biis a bijective function and if n(B) = 7, then n(A) is equal to ‘
a) 7 b) 49 c) 1 ; d) 14
3. f(x) = (x + 1)3 - (x - 1)3 represents a function which is
a) linear . b) cubic . (o)) reciprbcal | d) ,quadfatic
| 4. The least number that is divisible by all the numbers from 1 to 10 (both inclusive) is
a) 2025 b) 5220 ﬂ) 5025 l - d) 2520
5. GivenF,=1,F,=3,F =F _,+F__, thenFis &
a) 3 . 1 b) 5 <) 8 ORI
6. The solution of the system x +y - 3x =6, -7y + 7z=7,3z=9is
a) x=1,y=2,z=3 b)-x=-1,y=2,2z=3
c) x=-1,y=-2,z=3 0 d) x=-1,y=-2,2=-3
7.:In ALMN, 2L = 60°, ZM=50°, If ALMN ~ APQR, then the value of ZR is
a) 40° by 700 S ey Bee it d) 1100
L  Part-lI '
Te Il. Answer any 5 questions. (Q:No.14 is compulsory) ‘ ~ 5x2=10

v, 8. IfBxA={(-2,3), (-2.4), (0,3), (04), (3,3), (3.4)}, find A and B.

' 9. A relation ‘f is\deﬁnec_l by f(x) = x2— 2 where x € {-2, -1, 0, 3}

E i) - Listthe elements of f ii) Is f a function?

10. ‘a’ and ‘b’ are twdposit_ive integérs such thatal x b? = 800. Find‘a’ and 'b’.
11. Find the sum to infinity of 9+3+1+ ...

L Sn
12. Find ag and ay; of the sequence whose nt" term is given by &, = =7

13. If AABC ~ ADEF such that BC =3cm, EF = 4 ¢cm and area of AABC = 54cm2, Find the

area of ADEF.
14. Find the sum.of 1 +8 +27 + .......... +1000

\
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2 X Maths
Part - lll
Il. Answer any 5 questions. (Q.No.21 IJ compulsory) | 5%5=25

15. Given A= {1,2,3)}, B=12,3,5), C = (3,4}, D = {1,3,5), check if

. (AnC)x(BND)=(AxB)n(CxD)is true.

16. f(x) = 2x + 3, g(x) =1~ 2x and h(x) = 3x,'prove that fo(goh) = (fog) eh
- 17. Use Euclid's division algorithm to find thé HCF of 84, 90 and 120

18. Find the sumto n terms of the series : 5 + 55 + 555 +

-----------

| 19. Solve the following system of linear equations in three variables :
x-2y+z=2, 2x+3y —Z2=5,x+y+z=6 -

20. The sum of three consecutive terms that are in A.P is 27 and their product is 288. Find
the three terms ; :

SRS | - [6x+1if-5<x<2
21. Afunction f: [-5, 9] - R is defined as fﬁFWS: f(x)={6x2 ~1if 2<x <6
. ‘ T Ix-4if 6<x<9

2f( ,2) r(e)

Fi . . 0 / /
nd i) f(7) - f(1) i if) T2 .
| i g Pageliyss gl |
IV. Answer the following question. W G W ok ag
22. a) ConstrUct a triangle si'milartq_a}“given;t’riangle PQR wrth its sides.equal to % of ;t,he- |
corresponding srdes of the tnangle PQR (Scale factor E<1) gl A

OORP i

)] Construct a tnangle srmllar toa glven tnangle PQR wnth |ts S|des equal to Z of the

correspondrng S|des of the trrangle PQR (Scale factor ) [
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| ?vocQ»oP' = 28§
@U@b/uwuf
(a-d) a Casd) = 288
aCa"-d) = 258
q (s1-d°) = 287

29
J—(hiyeg_ (MQCJ\’L GW\} EQ
a-d,. a, atd

&

E@} Sum = 2

a- c9+a+a+oQ 27
3a =27

[a=3]

gi-d" = 32
4 = 49 » [d=17
ijc A s 9/ 0037
-4 = 9-7 =
a = *9
axrd = A+41= (6
}{ o =9, d=-T ‘
Aa-a(’: 9~C-'f)="
2 =9 '
.Q—(—QQ = Q'('C","'): 2
&
e a,16 Cov) 16,3,2
2

(FC’O' = 3a~4

Lep = 3em-g = 21-4

Q) fer) - fep = 11-T= 10

F
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